vbest.edu.my

Chapter 3: Subtraction (5-digit within 10000)

A4

7 will becomes 6. 8 will becomes 7.
7-1is equals to 5. 7-3 is equals to 4.
v
9 will becomes 8.
But 8 is not enough to subtract

with 9, because 8 is smaller than

9, cannot be subtract.

Thus, borrow 10 from the front.

10+8 is equals to 18.

18-9=9.

8-9, 8 is smaller than 9, cannot be

subtract.
Thus, borrow 10 from the front.

10+8 is equals to 18,

18-9=9.

8-9, 8 is smaller than g, cannot be

subtract.
Thus, borrow 10 from the front.

10+8 is equals to0 18.

18-9=9.
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8-9, 8 is smaller than g, all 5 2{ 3\ @
cannot be subtract. \
Thus, borrow 10 from the
front. =
6 becomes 5.
10+8 is equals to 18.
18-9=9.
O will becomes 9.
9 will becomes 8. 9-6isequalstos.
8-6 is equals to 2.

2-6, 2 is smaller than 6,

cannot be subtract.

Thus, borrow 10 from the
front, digit O. However, O
cannot borrow to the back,

Thus, borrow 10 from digit
9.

And O will becomes 9.
10+2 is equals to 12.

12-6=6
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Let’s do exercise together.

Please write down the correct auswer.

1. 5555 - 4700 =
2.2092 - 25 -512 =
2. 6767 - 29 =

4.9729 -1221 -1029 =
5.204% - 450 - 20 =

Please write down the correct answer.

T 125 = aaa —
2 2029 = a0 =
3. A044 L e =
4. ©04a9 = 124 = 27 =
e 5412 - 294 ! ole =
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Please write down the correct auswer.

1.
= ——
o =
4228 3054
2.
N N 4 N
aa49 70
3.
%/ ) %/ ]
5679 436
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D050 79 214
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1205 aq

a0e1 177

o2 224 2495
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Please write down the correct answer.

1. 9361 - 2086 =

2. 2440 - 3% - 240 =

2. 672 - 49 - 472 =

A4 FF77 - 2980 - 1024 =
51934 - 72 =

6. G016 — 492 — 1027 - 4D =
7. 2064 - A%0 - 14 =

®. 4009 - 201 - 4% - 432 =
A. 2177 - 724 - A9 =

10. 5420 147 -6026 - 197=
N. 9365 - 2037 - 197 - 5d=
12. 4486 - 297 - 427=

12, 2657 - 753 12 =

14. G0B2 - 770 - 28 -442=

15. 4565 - 27 - 657 - A0 =
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